Honeymoon Beanie

Size : 57/60cm (adwdt hat size)

This beanie gains Uy origunality thanks to-a
mipture of jacqguarol and twisted potterns
wiiieh gwves UF a Lot of relief: This work s
knitted un the rovno

Moateried :

1 ball Urga Fonty (color 1 n the pattern)

1 ball Edition 3 Scihoppel Wolle (color 2 un
the pattern)

Cirendar needdes 4mumm and 5 wifv oo
cable of 6O to- 80 cm

Cable needle, stitehv marker.
Abbreviationy and pounty :
a: color 1

b:color 2

k : kndt

P pwrl

K2tog: knit 2 stutehes togetiver
SKP : sy, kndt, pass over.

ml : make 1 : knit the stuch two- tumes, oncee foking Ut by the back strand, then
withouwt dropping the stuchron Hhe right needle, knit U by tive front stroamd.

* ... % repeat the pattern between * and * as many fimey as necessary to- funisiv the
rouwnol,

R: rownd.

Twut 1 : Onw4 sty slipr 2 sty one Hhe twisted needle placed belrind Hie work, kinit tie
next 2 stutehes, pick wp the 2 stitehes of He cable needle ano kinit:

Twist 2: On 4 sty, slip 2 sty o the twisted needle placed n front of He work, knit e
next 2 stitches, pick wp the 2 stitehes of He cable needle and kinit:

Rib 1/1: ¥k, pd¥, repeat Hus pattern on all rownds until Hhe desired height s
reaciec

Gounge, needdesy 4, ribs 1/1(withowt strefehung theml!), 2.5cm/2.5cmi 5 s/ 9 rounls.

Fattern [esy acguilles de Camdille.com


http://lesaiguillesdecamille.com/category.php?id_category=69
http://lesaiguillesdecamille.com/category.php?id_category=95
http://lesaiguillesdecamille.com/category.php?id_category=97

Work :

In color 1, cast onv 92 stitehes v long cast tall withv needles 4mm (futorial thvere), form the
circle, put Hhe st manrker to- marrks Hhe begiunning of Hhe rownd ande work v rip 1/1 o
4.5cm gl

Knit the next round withe needles Smm: md* (184 stitches),

Knit 2 rowndy : *k2a, kAb, k2a*

Then repeat the next 6 rowndsy 4 tumes (24 rowndy v total):

R1: *Twist 1, twist 2% (Knit the sty in the color in wirich they appear).

R2, 3, 5 and 6: KnittHre sty in tHre color i wivich they appear.

R4: *Twist 2, twist 1% (Knit the sty in the color in wirich they appear).

Thew knit f necessory the next turn wnfl e work v 15cm i totob height: *k2a, kAb, k2o
Staut to- decrease :

Decrease 1: *SKPa, kAb, K2togar

3 rowndy : *kda, kA, kilaX

Withv needles 4mm, Decrrease 2: offset the stifehh marker after Hhe first stitciv and knit tie
round ay follows: *kAb, K2toga *

3 rownds : *kAb, kdaX

Decrease 3: *kBb, K2togh*. Knit the restof the beanie un color 2.
3 roundy : *kh*

Decrease 4: * k2b, K2togh*

3 roundy : *kh*

Decrease 50 % ki, K2togh*

1 rownd : *kh*

Decrease 6: * K2togh *

1 rownd : kX

Decrease 7.5 K2togh *, funishv withv ki b
1. rownols: *kh*

Passtihe 2 Hureads Hhuroughv all stifthes using a wool needle, tighten to- fix the top of the cap,
repeat Hie operotion and thenw nsert He Hhueads nto- e beande, cut them flusiv


http://www.tricotepastout.com/archives/2014/09/08/30547485.html

